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EJERCICIOS COMBINADOS (Potenciacién y Radicacién)
(V16 — V4).2* + 433:4%1 =
V32 + (14 - 2)%:V144 =
2% (-4)+V25-4+ (3:3-5) =
30:(4—14) + (-8:2—3) -2 =
VIZ+24+15-7+2%:4—-21=
(6+8) 12 + V42 + 32 =
(-2)* +5-{[(-9) - +8) - (-7 - Y} - (-2)*'=
[4-(=7) 4+ 2): V169 + [(=4) - (-2)? + 8] - (-1)1°° =

/243 - \/z[%/ﬁ+ (=3)(=5)] + (~1)(=3)* =
5543~ 3H35) + (8%: 27) =

JO+2-62) + (1°+18:9)% =

(15:5)* +v/33-3+ 1~ (10:5)° =

V85 +3% + (36:9— 1%)% =
(4—7)*+V2-8+9-(32:8-6)*+(-2-8) =
V302 +(—6+2(-1)) - 0:7 =
V=64-(-3-2)—(—4)"-(52-1) =
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